| féos._6.95
I ESTEE Vemcis

: ]7/r {" a z‘ 5 / S % y! '

T

:; 284 100 B 20g 290048

LIy =0 2R +2Rs 428 = 2440 + 2960

R+ Ry +he = 2650 &0p. (1)

TPy =00 +)

fi - (24 Y2408) + (11 X2ks) = (9)2900) +(23)22.)=0
2%Rs + Hohe = COO0

‘ 4k + 23R = 30000 . ()

AT At NG o ALVE,
@) | TRAILER

e

ji 20a LN0 Fr

|

(28 R S SRR S LY, &i. (3)



(s, €45
\ZMw=0 4

| "‘(’L F&/ﬂ{w LB> y ) =0
L- = 436 tp

L - (w0 —¢) = g2 8 |

if'T/QuCKé
| 5t |

b
| e 2k 1 Fe
2R + 28e = 436 + 2000
ﬂﬁ tRe = 670

;m._ g

(u)(%em) (1X2Rs) + (+Yot0) = €

e — -.‘

Wg- 9358
T

=35 B

&



wﬂ@ﬁ_@ﬁf'

/

¢

20 2400
iﬂ -0
;; Rﬁ 5 /ec = (457

ZMy =0 e
i |
| R = G758
H /Q's = o4y (B

| ﬁDD NN

|
VDT o

[
I
|
|

| >> w o mdézzg AT

T B

I- (sV2900) + /‘Z)/ZKJ =0

B: 135 -694 = 299 (B

C: 735 -5

—

— /0 LB

®

i



